- Koy

Given these figures: /—J/ k
\ /3

% W |
17 iy e /f
: td
R el M s/l d

& 0 M« 779

L Defim; and identify: '
e Parallel Planes - Plane WYY // Plars SRQ, XY$/] W?.PdSP//){ RQ
Parallel Lines - 2./ m, SPHRQ [I XW/ Y Z NS/ X /|WV R/ Z P

Skew Lines - SR Skeq 4o ZPAWR Y2 Skew 10 XR LWR,Mény me/e...
The intersection of planes - s ORWEYS G ling

The intersection of lines - s agweays & ponX

Alternate Interior Angles - 336 , 524

Alternate Exterior Angles - -1, 2, | % €

Consecutive Interior Angles - 335, 4 % b

Corresponding Angles - 15,2 %7,2 46,1 U %

oDt o= 4= [+ (Y

Given A(3,1) B(-2,5) C(3,-5) D(-1,6)
3. Find the slope of AB.. 4. Find the slope of CD.
5-1 4 =9 b==5 _ Mo}l
__,;)_5:—5 D -\-3 - o)

5. Write an equation m?gcfh%‘g% (fggﬁ'ﬂ 4 b=3 "I
V=-4x+b, pvg in 3,1), 1=T5(3)tb :
5 ) g \( s A T
b s l% +b 5 :
6. erite an equation in slope‘-{ntergept form for%:D. + %- R .
—=11 i - -
Y= Tgx+b 6="F)+b _=-4 1
Plug in (i, b) ..N/Lo:..” +b b=3.25 y q ¥ 225
7. What is the slope oi?\a line(_]{)arallel to AB? What is the slope of a line perpendicular

ItoAB? ponalle = -*_‘46 ’Perpenc\icu\ﬂ/\ = _%.
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8. What is the slope of a line parallel to CD? What is the slope of a line perpendicular

to CD?
?o\/\q\lel = —l[_\-{ Pﬁvpend uldn = _\L\_
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9. Construct a line perpendicular to k through point w.

we
K-j :k
10. Construct an angle bisector of <WHS, %
11. Fill in all of the missing angles on thée parallel lines o= ©
= A 4 . M4LS= \
Mm4a = —\—IO% \ WAl = - 10B°
ML= wmZ32 1
med = T 5 < A 33 T
ot & \Yo-\05 = —(5 Yy-5= CY S
5 —OK =]
12. Find the measure of <1 in the crook transversal. P .
|95/ 14.x =
: /5’/‘\_;&%’ e 'qﬂg‘f
%5 Qy~57 p
3y +(+59-4?° (3y+1)
m&| = 1 v —£0
« - Ea 2 =24
\0" 55+\}5 %&TE\ .
13. Find x and y so that the lines are parallel. - \—/)
- /4 I7. Given: m<9 = 80; m<5 =68
Z {OY 5 > Gem<12=
5 = = 1= &°
_q_', x+'lﬂ:’80 ‘{x +q Y (.31)+(i ,35 %“n::d k-
+25=1%0
& -5 25

of = 10f
2]

= £ 5 because corresponding <s theore; g: /
"Gbccausc Vevrhoal L\\"\&\\E P | /2 >
=<8 because Q 3
k<= )® because censee ;g;mg n k(l“/

= & b ccausc a[tematc 'renor <s eorem., pn

) becausc NV \/
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